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Which of the following answers is right?  (A)A profit-maximizing firm in monopolistic
competition industry should shut down in the short run if prices are less than average
fixed costs.  (B)The demand curve faced by a monopolistically competitive firm is more
elastic than the demand curve faced by a monopolist, but is less elastic than the demand
curve faced by a perfect-competitive firm. (C)The kinked demand curve model
describes an oligopoly where competitors match price increases, but not price decreases.
(DYWhen demand is price inelastic, total revenue is negatively related to price and

positively related to quantity demanded. (E) None of the above.
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Which one of the following is right?  (A) If the short-run equilibrium level of GDP is
less than the long-run equilibrium level, then as the economy approaches the long-run
equilibrium level, the price level will increase and output will decrease.  (B) Assume
that there are no excess reserves in the banking system. When the required reserve ratio
is 20%, an individual’s purchase of $100,000 in U.S. government bonds from another
individual can increase the money supply of $50,000.  (C) If an initial increase in excess
reserves of $1,000 can generate a maximum increase in the money supply of $4,000, the
required reserve ratio must be 40%. (D) Fiat money is redeemable for gold or silver.

(E) An increase in the minimum wage would shift the aggregate supply curve inward.

Which one of the following is wrong? (A) Crowding-out effect may not occur if the
economy is in economic depression because government spending leads to lower incomes
and saving, which will not raise interest rate. (B)A weakened US economy hurts the
economies across in Asia because US is the largest importer of Asian products. (C)A
higher unemployment benefit may increase the duration of unemployment, overstating
unemployment rate. (D) The US stock market and real-estate market dropped and
collapsed in 2008, which results in a significant decrease in consumption and aggregate
demand. (E) The larger the contractionary (recessionary) gap, the greater the
downward pressure on the price level.

AR (BRI H  RASKTER) © K605

(20 %)
BURBEXFRERBETHALAZBERMLEAAVYE

(A) Asymmetric Information (B) Income Effect and Substitution Effect
(C) Liquidity Crisis (D) Keynesian Cross
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(A) I AL BELATREHERB SRR EXAZEER? (547)
(B) ##$RA—£300 T EXAEBRANKHST ARBHOFRBHR- (52)
(C) % B % B ##H3i3%“The Paradox of Water and Diamond” - (5 4~)
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In year 2011 and year 2012, there are two products produced in a given economy,

computers and bread. Suppose that there are no intermediate goods. Price and
quantity data are given as the following.

Year 2011
Good Quantity Price
Computers 20 $100
Bread 1000 81
Year 2012
Good Quantity Price
Computers 30 $80
Bread 800 $i.5

( A)Calculate nominal GDP in each year, and the economic growth rate in nominal GDP
from year 2011 to 2012. (5 4~)

(B) Calculate real GDP in each year, and the inflation rate of 2012 using year 2011 as
the base year. (5 4~)

( C ) Please using economic theory, model, and graph to discuss ' Productivity
Improvement could Mitigate Inflation ; . (5 4~)
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